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Answer the following questions

1- Choose (A) or (B), then answer the question:
Replace the statement with a suitable scientific term:

(A) Big Fractures and faulting and severe
folding that deform Earth’s crust.
(B) Era witnessed the formation of Earth
and its lithosphere, hydrosphere and
atmosphere.

2- Choose (A) or (B), then answer the question:
choose the correct answer:

(A) Mineral Topaz scratch all the following
minerals except:

@)  Gypsum.
(b Calcite.
(© Corundum.
(@ Fluorite.

(B) Native mineral has a nonmetallic

luster:
@) Gold.
(b) Diamond.
(©) Galena.
@  Quartz

:MY‘ At Y u::i

102 () 91 (1) cud ) s 23 -
suliall alall pllaael Ly 5baalt okl
dasal Oleaaitlygolaa s (1)
0943 ) ddcall Slslg I ¥ g
RVPS (FR-3 (BT
Lgialaly (o351 wgds i ()
Alelly (S92l (G pinall

zp’."(u)j!(‘)ﬁ@dib!j&! =Y
+ Aovoual | Al s

e HLagid i Oame (s (1)
coen e Lo LD Galasdd

(D)
Caatist ()
st ()
o glald @

@_:a)..augg)_m.;.cg..w(g)
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3- Choose (A) or (B), then interpret: 1@ (@) 91 (1) oVt Ayt Y
(A) The important role of the outer core of | "'“:h
the Earth. ) et e
1B S el Lt (42 T (o L
(B) Theaxialplane of the fold usually includes | w¥ adalt g smalt s giwalt (<)
all axes of folded successive beds. Gl yglomadl e Jods O
Gghadl Lectie Giladall Lgion]

4- What would happen when? ees e Sty I3Le -

Growing plant stem is exposed to equal | &liest Lol Sl Bluw (o o3

amounts of light from all direction. il ole 5 gaall (e T glcia

5- Mention the importance of forest trees | o S jlodi diedil ;830 -0
in industry. A Lual!
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6- Choose the correct answer: s Asuouall Al W 5 -1
A crystallographic system with three | EE el i) (gl ALY
unequal axes, a=g# [, pis>or <90°. | Jalall b Aalise do)sly Hylowse

....}AO‘\' u.n):..«a"j‘j.cs} B 3.33‘)'!‘3

(@  Orthorhombic. | it et ()
(b)  Tetragonal. , et @
(©  Monoclinic. » NIPR &
(@  Triclinic. | MIRINEINN ©)

7- Study the figure and answer the question: | :cof @ Slalel G G (uyal -V

1** : What does this figure represent? | SIS s Jias 13Le -
2" : What happens in the liquid upper | atlutiaadalt cosmy fale -
mantel? | Srlasti (e G alall £ il
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8- What is meant by.....? 1) Agadell Lo -A
1** : Environment Sleele At : ¥yl
2nd . ECOIOgy ‘“_,.‘«:HJ'?LB.}J‘ s Lals

PSS PR
9- Differentiate between residual and PR (PP WP [ WP (R JE R
transported soils in terms of their ) E (yo AN gATa)
textures.
residual soil /zs o1 2 0 transported soil / 43 saied! 2 231
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10- Choose (A) or (B), then answer the question: | : e (<) of (1) G tgudt dsi pi3nf =\
Replace statement with suitable scientific term: | ;. olal! lauadlly 5ybialf Jubcia

(A) Elongated sand dunes extend in the | oS Jsadt aldaiue ile ) oLs (1)

dominant wind direction. Lt 1 7L 3 ol ga Lgalonil
(B) Water bodies got separated from the | slmd! e Juadidi dils aluai (o)
main sea by the growing coral reef. A0l pol ) ladld ) ged Ao
11- Choose the correct answer: s Asvouall Wl W) 5 =) )
The chemical composition of gypsum is ...... | ... 98 (pundd (3L S 30
@ Anhydrous calcium sulfate. AL S 4 g ISH Sl oS @
@ Hydrous calcium sulfate. LASLed ) p g 1T Ol 8 @
(©)  Calcium bicarbonate. oS Sbs S (D)
(@  Calcium carbonate. RWRETRCRNE)
12- What would happen if ..... Seeennnns e Sy 13Le -\ Y
Looking at mineral opal from different | ;. o L ¥ ae I tail
angles. Al Ll

[6]
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13- Read the statement and answer the s | @ AT Bylealt 1,30 -\
questlo'n: :  a e Jd! (g3lg adlain B O ,gls)
“Economic deposits appeared in Nile o i .
valley and Abu tartur” a8l ceuly) st o 92l
1* : What are these deposits? Swlglonn o Le (1)
2" : What are the environmental condition | caf it adodicagdati e (o)
that cause the deposition? Scwlgpdloia (4983 I

w%?mwﬁs‘ -\¢

14- Mention what Marcalli scale is used for.
S 10

15- Justify: b Lt Jle V0
Rocks on the fault plain could suffer from | zitatt seice e ygicall
metamorphism. Jgild (4o palis B
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16- Choose (A) or (B), then Compare:

(A) Organized grazing and overgrazing.

(B) Causes of mineral and fossil fuel

depletion.

(2) 91 () a3t chomi it =1
1o QL8 @D
Al e g laied e 31 (1)
Slealy Oalaatl a3l olel ()
NTSS RV (VT

17- (Herbivorous in the marine ecosystem are

different from the herbivorous in Desert
ecosystems). Explain this statements.

AL B Codial | OSTLalis, -1V
Cedal | ST e (g pond ! e

.((éjb:ué.” ‘“_,_i:«.‘«.ﬂ ?Uéfd‘ ‘;ﬁ
Bylati odd ma g
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18- Justify: b Lat Yl VA
Coastal areas are characterized by more | i &iw¥l ddsludl Gboliad! jls
thermal stability than continental areas. Aylatt abliadl e (5l !

[9]
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19- Choose (A) or (B), then give an example: | : @3 (<) of (1) (udfgadt dsi i) =14

(A) Mineral that usually encountered along e el
fault plane. Iste e e Hans (1)
.ALal g

(B) Period dominated with true angiosperms. SIS ach o gl ()

L

20- Choose (A) or (B), then answer the question: | (o) oi (1) ¢l it df y25f =Y
What would happen to ..... 1o @2
(A) Rolling of pebbles in current direction ¥ooo i Gy "’t"

on the bottom of river. rle e Olocer 7y di*(1)

~‘L"3'JL:3 ow! ‘;Q}G.U‘ t@

K 2o 395 (e Jlea Wi pd)) ()

a rock. Sl Le

(B) A load suddenly removed from above
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21- Choose (A) or (B), then interpret: 102 (@) 9 (1) o duadt 250 =Y
(A) Stability of biological balance in the | ""“3
P >3l eadt Oyl Ola (1)
.‘:,.itd‘ allad
(B) Occurrence of decomposers affects the | attmoticlisitstiag s,y (o)
abundance of nutrients. A PREOR [ JE- PR P | 9

ecosystem.

22- Replace the statement with suitable il palad pllauaally 3 pLaal! Jukdul - Y Y
scientific term:

Layers of salt deposits, which characterize
the arid dry climate found now at the base
of sedimentary succession in North Europe.

Bjan dumls ewly) (pe Ol
.Qj}}iJMé@yﬂ‘wa‘

23- Explain the importance of organic Al Siew¥ ) dredi ig -YY
fertilizers.
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24- Choose the correct answer: s Asvoall Al W) I =Y
vascular plants living in fresh water can | o2 s 1 ddle ot OLSLAS
tolerate pressure that reaches. .. Jroid (0 pualatiad Agiiall oot

..... A brs

(@) 11 times atmospheric pressure 5= dmanie v ()

(b 2 times atmospheric pressure gy dariim Y (D)

(©) 10 times atmospheric pressure s daas St (D)

(d) 4 times atmospheric pressure gsrbassimt (3)

25- Read this statement carefully and s @ dabias 3)ylati ola | \81 -Yo

answer the questions: RIS N P
“Rock used by Paleolithic man to make spears” oyt | oo B (6
1** : Mention the name of this rock 3l s gl (1) 2583
2M : Classify this rock and indicate its class. | . yswall lia cais (o)

26- Compare between Hematite and C e 1 9 Ci Lang? | (it (1B - Y1
pyrite in terms of color and streak. aknadl = ottt Eoem (ya
Hematite / coilecg! pyrite / co 3t
color
O
streak
Ol
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27- Study the figure, and answer the | @D Elolel (G JSLI (payat =YV
questions: . Lol i
o) s (5 sise - = i
Sea level C : B i A

ffffffff

. . . | & 5 S - a4 L . . i s
1*: Mention the marine area where spit occurs. | Lais 531 dalatall ,Sia0: ¥ g

2™ : Depth range of area (B). _ Y g
31 ; Mention the deposits of area ( C ). (2) Adlaied) Gae < Loy

| (o) dakaiall Cewlgy ,SaI LSS
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28- Choose (A) or (B) and answer the question: | :@3 () gi (1) o1 3udt di J250 - YA

Replace the statement with suitable rlloaedly 8 loeat Juiow!
scientific term. R P\ { PP WP {
oo s ylgedt alu i wl (1)

(A) Using the environmental resources
wisely.

(B) Period when day animal activities are
reduced gradually and get back to their

RE-1perim PR
Ol gt dolid Lgd Jas5 58 (o)
@ Ay B)geay dAyylgd!

homes. i Ma 1 agad
29- Choose the correct answer: s dsvouall Al W) I -Y4
All of the following features indicate | ie Jus raltasd (s s Lo oo
differential erosion except: | ... e Lo oliied! Comid| &g
@ Coastal caves Sl Lud 1 O lastd @
@ Canyons gl ¥ @
(©)  Stalactite ~daslge!! @
@ Mushroom ool @
30- Justify: s dle Y
Similarity of geological structures of the | oy,Lau o> 1 gt sl asl s
southern continents. Aaliel| Ao gind!
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31- What do cause the continuous, slow, | 5 it 76 & o oo ba -
hardly sensed movement of tectonic | aita; dc juo 2813 4S > dus ¥

2 .
plates? i IR

32- Which mineral can be described by | 42ad i Hiaed! mewl Lo =YY

the following statements? 1 HLeA Y O Ll
1** : Native mineral with basal cleavage. | .gucld sluaiil g3 g puaic guns : ¥yl
2" : Carbonate mineral with true green | 093 43 =l S uas : Lol

color. ol yini]
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33- Give short notes on water table 100 B pualiine B3I LGS| =YY

(of ground water). 6 gn ) s y ¥ olcadf s gocico

(2, sla
34- Choose (A) or (B), and discuss () 91 (1) ot 3uadt di 2l -Y'E
(A) Abnormal expansion of water and its 1l @
importance to marine organisms. dicanly sloll SLASI el (1)
(B) Annual plants is not true desert plants. o sl DU
Ced At gt SLSLCT (&)
PAldo By gl pomio DLLS
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35- Study the figure and answer the questions: | ro | @ Elalal (G JSENN (upal YO
0

2" : Justify you choice? LAY e sLols
34 :What is the structure 2? ‘ $(Y) S, Lo LS
4™ :What is the structure 3? § (V) S, La L.,n,
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36- Compare between Komatite and
rhyolite in terms of mineralogical
composition and rock classification.

e gl 5115 S La oS (o (ypl3 =11
20 uaal! G ) S (0
oual! adual

Komatite /

PO

e

Lo oSt

rhyolite / ool a1 ,31

mineralogical
composition

S
(Pt

rock
classification

- x‘ .". -
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37- Choose (A) or (B) and answer the (@) 9 (1) ol gt iy -YY
question: roa i @d
What would happen if .... S L. e S 15Le
(A) Shale subjected to high pressure and | dascat Jalatl yivws o5 223 (1)
low temperature. Anddia byl ym g pull po
(B) Kerogen get heated to 480 °C. I M (i g ST (i ()
38- Choose the correct answer s Asvowal) Wl ¥ JI5 1 YA
Desert environment is characterized by oo ds_. gl ol | Ak 3Lie
exoeph™ - aw  a(NVY lae Lo 3L
@ Very hot during day and cold during night. | .St ass iy 1)le 5 pmdi s @
(b)  Very hot during day and night. S5 ke 3yt ns ()
@ Abundant storms and bright light .5 9ual| Bl g Caolgall 35S @
@ Arid and dry. (@laxt) slad )3, g Al ld @
39- Discuss: b Lat Yl T4
The agricultural soil is a product of Wyt (e Aoyt i i
chemical weathering of Igneous and A goiallg i s gl Ailia

Metamorphic rocks.
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40- What would happen when rounded 1ohe A Slad) ZOLLY Lo -
pebbles more than 2mm in diameter

ik { I SN { o] WERES { T P Py
get cemented together? e on

§ yiaulle ¥ le Lgili e ylad o

41- Replace the statement with a suitable | zllaaelly 5t Jodiwl -¢)
scientific term: sl | ooalalf
The imaginary line passing through the '
g y p g g Ejjlzd‘)s}q).e:n‘é'.‘.mg@ﬂ‘m‘
center of crystal that when the crystal | ™" * .
rotate about it, the face or edge repeat | “ 29 2stll 15> Sl sl

itself twice or more. Lola) ol gy gl d 5l 9l S
81 1 (5 50 8510

42- What is meant by porosity? Qeenns — dgadalile -£Y
)93all dalue
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43- Choose (A) or (B), then compare (@) 9 (1) ot auadt i i) -8V
between: ro i @
(A) Sial and Sima in terms of type of rock 1o (1B
and composition. Loteat ! y g3 g Jewd ! yg3na (1)
(B) Volcanic and tectonic earthquakes. bt 53— sl g 2t (14
a0 9SS I3 ¥ 59 4018 I3 ()
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44- Study the figure and answer the question: | :coi @3 Slelel A JSEH (sl -£8

15t : Determine the structures found in the | St gla—l s> : ¥y
figure. i LISl B g 9ol

214; Tell which one is the youngest? § Ernl Logal :Lols

2
45- What is the importance of: 10ve JS diadi Lo - £ 0
1*¢ : Synthetic fibers. ' Saueluall Cala ¥ &;‘
| s
2" : Humus. ' §JLgtt Loy
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